 EQ a\s\up8(2)\b(b-c)+b\s\up8(2)\b(c-a)+c\s\up8(2)\b(a-b) =
Выносим  минус из произведения.

= EQ  a\s\up8(2)\b(b-c)-b\s\up8(2)\b(a-c)+c\s\up8(2)\b(a-b) =

Производим группировку.

= EQ  a\s\up8(2)\b(b-c)+\b(-b\s\up8(2)\b(a-c)+c\s\up8(2)\b(a-b)) =

Раскрываем скобки.

= EQ  a\s\up8(2)\b(b-c)+\b(-\b(ab\s\up8(2)-b\s\up8(2)c)+\b(ac\s\up8(2)-bc\s\up8(2))) =

= EQ  a\s\up8(2)\b(b-c)+\b(-ab\s\up8(2)+b\s\up8(2)c+ac\s\up8(2)-bc\s\up8(2)) =

Выносим  минус из произведения.

= EQ  a\s\up8(2)\b(b-c)-\b(ab\s\up8(2)-b\s\up8(2)c-ac\s\up8(2)+bc\s\up8(2)) =

= EQ  a\s\up8(2)\b(b-c)-\b(ab+ac-bc)\b(b-c) =

Выносим общий множитель.

= EQ  \b(a\s\up8(2)-\b(ab+ac-bc))\b(b-c) =

Раскрываем скобки.

= EQ  \b(a\s\up8(2)-ab-ac+bc)\b(b-c) =

= EQ  \b(\b(-a+b)c+\b(a\s\up8(2)-ab))\b(b-c) =

Выносим общий множитель.

= EQ  \b(\b(a-b)\b(-1)c+\b(a-b)a)\b(b-c) =

Выносим общий множитель.

= EQ  \b(\b(a-b)\b(\b(-1)c+a))\b(b-c) =

Выносим минус из произведения.

= EQ  \b(\b(a-b)\b(-1c+a))\b(b-c) =

= EQ  \b(\b(a-b)\b(-c+a))\b(b-c) =

Изменяем порядок действий.

= EQ  \b(\b(a-b)\b(a-c))\b(b-c) =

Раскрываем скобки.

= EQ  \b(a-b)\b(a-c)\b(b-c) 
